Bid KRS 102 25EEALEALEHER L XA

#8448 ARMEEES [BEmETETA] 5% © 446001
MAFBRBERE TATU ) FRATHEHR H$£3FE1A

[L#4gR (542545 £ 108 85 25%)

1. Media scholars often study how pressure from advertisers influences journalists’ news reporting. In
media sociology, advertising pressure can be regarded as and journalists as

a) structure, agency
b) agency, structure
¢) environment, functions
d) functions, environment

2. Sociologists argue that humans must build and interpret the meaning of objective reality. They refer
to this process as:

a) The variability of reality

b) Reality attainment

¢) Social specificity

d) The social construction of reality

3. Much of the initial funding for the Internet came from:

a) Private corporations

b) Individual computer hobbyists

¢) Nonprofit, public-interest foundations

d) The government, especially the Pentagon

4. A company seeking to become vertically integrated in the book industry may want to purchase
which of the following companies?

a) A record label

b) A paper mill

c) A chain of movie theaters
d) None of the above

5. Conglomeration refers to the process in which:

a) Fewer corporations own the media

b) A larger number of corporations enter the media industry
c) Media companies become part of larger corporations

d) Media companies begin to sell off their holdings

6. News companies are taking various measures to keep costs down lately. Which of the following does
not belong to such measures?

a) Decrease the number of journalists on staff
b) Limit investigative reporting

¢) Focus the news on preplanned official events
d) Increase international news coverage
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7. The following arguments concern how technologies change society. Which of the following
arguments is nof considered an example of technological determinism?

a) The Internet has ushered in a new age, an information society, which differs fundamentally
from the societal orders of the past.

b) The invention of television created an obsession with visual culture and caused the decline in
the seriousness of rational public discourse.

¢) The invention of the printing press in the 15th century caused religious reformation and
ultimately helped create nation-states.

d) Radio became one of the successful commercial media in the United States, whereas
communist China and Russia controlled radio and used it for propaganda medium.

8. Which of the following is #or a core argument from social construction of technology?
a) Technology is an external force that exercise an independent impact on society.
b) Human agency takes the center stage in the development of technology.
c) Cultural norms shape the use of technology.
d) Economic forces shape the use of technology.

9. Which of the following is not a defining characteristic of mass communication?

a) A known sender, always a known receiver

b) A known sender, but generally an anonymous receiver
c) Generally one-way communication

d) A clear distinction between a sender and a receiver

10. Which of the following best describes McLuhan’s quote, “The medium is the message.”

a) Media messages are easily disseminated by different media.

b) There is only one powerful medium and many less powerful media.

¢) Medium itself is sometimes more important than the message it carries.

d) Media messages are very powerful and they influence a large number of people.
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1.(1) How do you think the presence of television has changed family life? (5 %7 (2) Do you think the
spread of the Internet will have similar effects? Why or why not? (5 4~)

2. (1) New media may push toward greater diversity and participation, but how do other social forces
push society toward uniformity and spectatorship? (5 4-)

(2) What are these forces? (5 %)

(3) What might be the possible consequences? (5 4-)
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